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sum(a, b) { sum(1l, 2)
a + b; sum(10, 4)
sum(3, 6)
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console.log(sum(l, 2) == 3)
console.log(sum(10, 4) == 14)
console.log(sum(3, 6) == 9)
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testSum() {

(sum(1l, 2) != 3)
(sum(10, 4) != 14)
(sum(3, 6) != 9)
sum(a, b) { }
a + b;

(testSum()) {
console.log( 'pass')

} {

console.log('error')
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npm init -y

LR ARNE jest

npm install --save-dev jest
{E2X package.json
"scripts": {
"test": "jest"
b
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npm test
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npm test --coverage



N 1= .
INAERREY (sum.js) HIEFZZL (sum.test.js)
sum(a, b) { test('adds 1 + 2 to equal 3', () => {
N +’b. expect (sum(1l, 2)).toBe(3);

})i
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./sum. test.js
W adds 1 + 2 to equal 3 (2 ms)

File | % Stmts | % Branch | % Funcs | ¥ Lines | Uncovered Line #s
---------- e e
All files | 100 | 100 | 100 | 100 |

sum.js | 100 | 100 | 100 | 100 |

---------- ] e L
Test Suites: 1 passed, 1 total
Tests: 1 passed, 1 total
Snapshots: @ total
Time: 8.385 5, estimated 1 s

Ran all test suites matching /sum/i.
Done in @.97s.

Stmts: BRI T (FRIZFIV) B EZ R (H190 a=5; b = 10;)
Branch: X B9B =X (40 if-else)

Funcs: PREVIVEE R

Lines: {TEHIBE X
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LN . /coverage.test.js
W test branch 1 (1 ms)

W test func a

I
File | % stmts | % Branch | % Funcs | % Lines | Uncovered Line #s
----------- e B L [T
All files | 60 | 50 | 50 | 66.66 |
branch.js | 75 | 50 | 100 | 75 | 2
funcs.js | 66.66 | 100 | 58 |  66.66 | 6
stmts.js | 33.33 | 100 | o | se | 2
----------- I e B
Test Suites: 1 passed, 1 total
Tests: 2 passed, 2 total
Snapshots: 8 total
Time: 8.464 s, estimated 1 s
Ran all test suites.
Done in 1.11s.
Stmts
\ S Y A (| A}
\EIJ:
NI\
stmts(x, y) { NI ATVIE
sum = X + Vy; X + y;
} 7
module.exports = stmts




./coverage.test. js
W test branch 1 {1 ms)

v test func a

I
File | % stmts | % Branch | % Funcs | % Lines | Uncovered Line #s
----------- e B L [T
All files | 60 | 50 | 58 | 66.66 |
branch.js | 75 | 50 | 100 | 75| 3
funcs.js | 66.66 | 100 | 580 |  66.66 | 6
stmts.js | 33.33 | 100 | o | se | 2
----------- I B e
Test Suites: 1 passed, 1 total
Tests: 2 passed, 2 total
Snapshots: @ total
Time: 8.404 s, estimated 1 s
Ran all test suites.
Done in 1.11s.
Branch
function branch(n) { 2EU§EC$§ES§$
if (n & 2 === 0) { InNJRA
return 'even'
} else { test('test branch 1', () => {
return 'odd' expect (branch(l)).toBe('odd"')
} })
}
module.exports = branch




function a() {

return a

function b() {
return 'b'’

module.exports
a, b

./coverage.test.js
W test branch 1 (1 ms)
W test func a

|

File |

|
All files | 60 | 50 |
branch.js | 75 | 50 |
funcs.js | 66.66 | 100 |
stmts.js | 33.33 | 100 |
| |

Test Suites: 1 passed, 1 total

Tests: 2 passed, 2 total
Snapshots: @ total
Time: 8.4084 5, estimated 1 s

Ran all test suites.
Done in 1.11s.

Funcs
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test('test func a', () => {

})

expect(funcs.a()).toBe('a')
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CoinChanger = require('./coin-changer');

test('new CoinChanger default coins = [1, 5, 10, 50]."', () => {
coinChanger = CoinChanger();
expect (coinChanger.coins).toEqual([1l, 5, 10, 50]);
})
BHFNEmEN (EIRFEERERR)
CoinChanger {
() A
.coins = [1, 5, 10, 50]
}
}

module.exports = CoinChanger
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test( 'new CoinChanger withs coins = [1, 5, 7, 10]1."', () => {
coinChanger = CoinChanger([1l, 5, 7, 10]);
expect(coinChanger.coins).toEqual([1l, 5, 7, 10]);
})
= e i
BIRBR]HZE
CoinChanger {
(coins = [1, 5, 10, 50]1) {
.coins = coins
}
}

module.exports = CoinChanger
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test('when new CoinChanger without 1 coin, throw error.', () => {

expect(() => {
CoinChanger([5, 10, 50]);
}) .toThrow() ;
})
—
2iR
CoinChanger {
(coins = [1, 5, 10, 50]1) {
.coins = coins
(! .coins.includes(1l)) {
Error('coins must include 1');
}
}
}

module.exports = CoinChanger
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test('default coins change coins with 30.', () => {
coinChanger = CoinChanger();
expect (coinChanger.change(30)).toEqual([10, 10, 10]);

})
giR

change (amount) {

result = [];
rest = amount;
( i= .coins.length - 1; i >= 0; i--) {
coin = .coins[i];

(rest >= coin) {
result.push(coin);
rest -= coin;

result;
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test('coins = [1, 5, 7, 10] change coins with 24."', () => {
coinChanger = CoinChanger([1l, 5, 7, 10]);
expect (coinChanger.change(24)).toEqual([10, 7, 71);
})

giR

change (amount) {
dp = Array(amount + 1).£fi11(0).map((_, 1) => 1)
( coin .coins) {
( i =1; i <= amount; i++) {
(i >= coin) {
dp[i] = Math.min(dp[i], dp[i - coin] + 1)

result = []
(amount > 0) {

( i= .coins.length - 1; i >= 0; i--) {
(dp[amount] === dp[amount - .coins[i]] + 1) {
result.push( .coins[i])
amount -= .coins[1i]

result
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./coin-changer.test. js

[

! new CoinChanger withs coins = [1, 5, 7, 1@].

[ -

{
|

/ new CoinChanger default coins = [1, 5, 16, 58]. (2 ms)

v when new CoinChanger without 1 coin, throw error. (6 ms)

 default coins change coins with 38.
W coins = [1, 5, 7, 18] change coins with 24.

File | % Stmts | % Branch | % Funcs |
----------------- PR R R —
All files | 100 | 100 | 100 |
coin-changer.js | 100 | 108 | 108 |

----------------- e e EERe
Test Suites: 1 passed, 1 total

Tests: 5 passed, 5 total

Snapshots: @ total

Time: B.276 s, estimated 1 s

% Lines | Uncovered Line #s
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npm init vue@latest

o ZE1Iti%¥ /src/components/TheCounter.vue
o EITHIEN /src/components/ tests /TheCounter.spec.js

AT R G

npm test:unit

Al B ER

npm test:unit --coverage
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{ describe, it, expect } "vitest";
{ mount } "@vue/test-utils";
Counter "../TheCounter.vue";
describe("Counter", () => {
it("default render count is 0.", () => {
wrapper = mount (Counter);
expect (wrapper.find("span").text()).toBe("0");
})i
})i
=
=
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it("click increment button count is 1.", () => {
wrapper = mount (Counter);
wrapper.find("#increment").trigger("click");
expect (wrapper.find("span").text()).toBe("1");

})i
g5

{ ref } 'vue';

count = ref(0);
increment = () => {
count.value =1

}i

"increment" "increment">increment
{{ count }}

= 52515 increment 2B 568 - IR 1L

increment = () => {
count.value = count.value + 1

}i
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it("click decrement button count is -1, but min count is 0.",

wrapper = mount(Counter);
wrapper.find("#decrement").trigger("click");
expect (wrapper.find("span").text()).toBe("0");

}):

giR

decrement =
count.value = 0

}i

() => {

"decrement" "decrement">decrement

()

=>{
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it("click increment button twice and then decrement button count is 1.",
wrapper = mount (Counter);
wrapper.find("#increment").trigger("click");
wrapper.find("#increment").trigger("click");
wrapper.find("#decrement").trigger("click");

expect (wrapper.find("span").text()).toBe("1");
})i

giR

decrement = () => {
count.value = count.value - 1
}i:
Y= FE e 2% =
IR E R S 25 A RE
3@3@: click increment button twice and then decrement button count is 1.
: click decrement button count is -1, but min count is 0.
\ AZ \
PR E BZEA R AT
decrement = () => {
count.value = Math.max(0, count.value - 1)

}i
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TheCounter
{ ref } 'vue';
count = ref(0);
increment = () => {
count.value = count.value + 1
}i
decrement = () => {
count.value = .max(0, count.value - 1)
}i
"increment" "increment">increment

{{ count }}
"decrement" "decrement">decrement
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{ describe, it, expect } "vitest";
{ mount } "@vue/test-utils";
Counter "../TheCounter.vue";
describe("Counter", () => {
it("default render count is 0.", () => {
wrapper = mount (Counter);
expect (wrapper.find("span").text()).toBe("0");
})i
it("click increment button count is 1.", () => {

wrapper = mount(Counter);
wrapper.find("#increment").trigger("click");

expect (wrapper.find("span").text()).toBe("1");

}):

it("click decrement button count is -1, but min count is 0.",

wrapper = mount(Counter);
wrapper.find("#decrement").trigger("click");

expect (wrapper.find("span").text()).toBe("0");

)i

()

it("click increment button twice and then decrement button count is 1.",

wrapper = mount (Counter);

wrapper.find("#increment").trigger("click");
wrapper.find("#increment").trigger("click");
wrapper.find("#decrement").trigger("click");

expect (wrapper.find("span").text()).toBe("1");

}):
}):

> {

()

=>
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FRAN - EXEE App.vue

"./components/TheCounter.vue";

= IR P9 BT AY test cases 3BIE o
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https://github.com/vuejs/router/issues/1466
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{ mount } "@vue/test-utils";
{ describe, expect, test, vi } "vitest";
App "@/App.vue";
router Yoots
describe("test router", () => {
test("click about 1link, go to /about page.", () => {
wrapper = mount (App, {
global: {
plugins: [router],
oy
})i
push = vi.spyOn(router, "push");

link = wrapper.get("#about-1link");
link.trigger("click");

expect (push).toBeCalledWith("/about");

)i
}):

giR

<RouterlLink id="about-1link" to="/about">About</RouterLink>
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<button id="about-link" @click="Srouter.push('/about')">about</button>
N &

{ useRouter } "vue-router";

router = useRouter();
goAboutPage = () => router.push("/about");

"about-link" "goAboutPage">about
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{ mount } "@vue/test-utils";

{ describe, expect, test, vi } "vitest";

{ useRouter } "vue-router";

TheBackButton "../TheBackButton.vue";
vi.mock("vue-router", () => ({

useRouter: vi.fn(),

})):

describe("test TheBackButton", () => {
test("when click button should router back.",
back = vi.fn();
useRouter.mockImplementationOnce( () => ({
back,
}))i
wrapper = mount (TheBackButton);
button = wrapper.find("button");
button.trigger("click");
expect (back) .toHaveBeenCalled() ;
})i
)i

()

=>{



{ useRouter } "vue-router";
router = useRouter();
back = () => {
router.back();

}i

"back"

5
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"$Srouter.back()"

BRIECNAEFREE router

test("when click button should router back.", () => {
wrapper = mount (TheBackButton, {
global: {
plugins: [router],
bo
})i

back = vi.spyOn(router, "back");
button = wrapper.find("button");
button.trigger("click");

expect (back) .toHaveBeenCalled() ;

}):
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{ mount } "@vue/test-utils";

{ describe, expect, test, vi } "vitest";

{ useCounterStore } "./stores/counter";

App "@/App.vue";

router "./router";

{ createPinia, setActivePinia } "pinia";
describe("test App", () => {

test("when click window, call counterStore increment.", () => {
pinia = createPinia();
setActivePinia(pinia);

counterStore = useCounterStore();
increment = vi.spyOn(counterStore, "increment");

mount (App, {

global: {
plugins: [router, pinia],
¥
})i
window.dispatchEvent ( Event("click"));
expect (increment) .toHaveBeenCalled();
})i
})i
==
=
{ increment } = useCounterStore();

onMounted( () => window.addEventListener("click", increment));
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test("when unmounted should remove window click increment event.",
pinia = createPinia();
setActivePinia(pinia);

counterStore = useCounterStore();
= vi.spyOn(counterStore, "increment");

increment =
wrapper = mount (App, {
global: {
plugins: [router, pinia],
¥
})i

wrapper.unmount () ;
window.dispatchEvent ( Event("click"));
expect(increment).not.toHaveBeenCalled();

)i
BIiF

onUnmounted( () => window.removeEventListener('"click", increment));

()

> {
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